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(A) A/ B*100
(58)
TH A B R AR 4 ¥ et 4 7,698 0.1 1, 440, 000 360, 000
P P B R R4 ¥ fafs 47 7,698 0.6 21, 600, 000 459, 574
VaA - a—7 T FilaEre ¥ et 1 7, 698 0.0 138, 000 138, 000
BB ¥ et 1 7,698 0.0 157, 000 157, 000
PE PR R A S 1R 4 ¥ et 10 7,698 0.1 2, 500, 000 250, 000
TH A B R A TR 4 ¥ =5 1 7,698 0.0 425, 000 425, 000
TE A Bt R4 ¥ =5 43 7,698 0.6 23, 300, 000 541, 860
PR LR 2 o [ A8 2 4 FHh et 4 7,698 0.1 1,728,000 432, 000
BAE RS 4 FHh et 2 7,698 0.0 480, 000 240, 000
LB LR ity e FHh et 14 7,698 0.2 3, 080, 000 220, 000
TLIRSM A PEZE S VR 7 /L 7 SE TR BV R 52 2 4 FHh fafs 2 7,698 0.0 360, 000 180, 000
ZZUF JEFREFMEAE Y& B4 et 6 7,698 0.1 2, 160, 000 360, 000
R T4 FHh et 1 7, 698 0.0 240, 000 240, 000
ZX B AR BLE i FHh et 2 7,698 0.0 600, 000 300, 000
FfE SR P AR SR FAHh et 2 7,698 0.0 600, 000 300, 000
PR ESRETYA FAHh fafs 3 7,698 0.0 2, 304, 000 768, 000
IRl e e FAHh fafs 3 7,698 0.0 1, 440, 000 480, 000
i e B S FAHh fafs 1 7,698 0.0 576, 000 576, 000
IR KT 0 S B A P SR T 4 FHh fafs 2 7,698 0.0 792, 000 396, 000
REIR & & FHh fafs 1 7,698 0.0 264, 000 264, 000
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(A) A/ B*100
SEXFRRE LS FHh et 10 7,698 0.1 1, 680, 000 168, 000
SR E RV 4 FHh et 11 7,698 0.1 3, 960, 000 360, 000
b AP AT S HILE 54 FHh et 2 7,698 0.0 1, 200, 000 600, 000
RKE RS FHh fafs 4 7,698 0.1 960, 000 240, 000
PRI IR FHh et 1 7,698 0.0 180, 000 180, 000
R 57 i 4 FHh et 1 7,698 0.0 78, 000 78, 000
A AR SO o — TR 4 FHh =5 748 7,698 9.7 | 484,704, 000 648, 000
A AR SO o R4 FHh =5 2, 307 7,698 30.0 |1, 384, 200, 000 600, 000
e W 0B ST bR R 3 2 4 B4 =5 11 7,698 0.1 7,128, 000 648, 000
ALIUINTLE 2 4 EZ)N =g 14 7,698 0.2 9, 072, 000 648, 000
BT B R E S FAHh =g 1 7,698 0.0 360, 000 360, 000
VR KRG & FAHh =2 6 7,698 0.1 4, 536, 000 756, 000
R IR B S 41 5 8 7,698 0.1 3, 936, 000 492, 000
REARERE S FHh =g 1 7,698 0.0 420, 000 420, 000
Koy g sp s EZ)N =32 2 7,698 0.0 1,224, 000 612, 000
B R AT R e FAHh =g 1 7,698 0.0 300, 000 300, 000
HiFRERE S FHh = g2 3 7,698 0.0 2, 268, 000 756, 000
WREOE S M4 FHh =52 11 7, 698 0.1 6, 864, 000 624, 000
7] S e FHh =g 1 7,698 0.0 360, 000 360, 000
AABIEE R4 FAHh =g 5 7,698 0.1 1, 050, 000 210, 000
b LN ERESE S FHh =g 2 7,698 0.0 960, 000 480, 000
BB IR B R FHh =2 3 7,698 0.0 2, 160, 000 720, 000
fif] FH F - 95 SR b [ A 4 FHh = g2 2 7,698 0.0 1,116, 000 558, 000
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(i NI CANES PN e s X S SR ) T faft 15 19 78.9 5, 400, 000 360, 000
VA FA B KA E N 2R BB A G 4 T faft 2 34 5.9 1, 800, 000 900, 000
VO A B R RLE A6 B A 5 Gl 4 T faft 3 19 15.8 1, 080, 000 360, 000
AR PE RN IRIE B BT 4 - 205 (EMUE &) | %N faft 36 7,698 0.5 3, 600, 000 100, 000
VAR B R RSN IRIE B R AR 4 ks (W4 |FAN faft 30 7,698 0.4 4, 428, 000 147, 600
IR RN R R A 4 - R (ERTHER &) | faft 2 109 1.8 200, 000 100, 000
IR RN R R A2 4 - R s (RBeiihihd) | faft 2 109 1.8 298, 000 149, 000
0— R« 747y FREBERNRE AR SR 2ER2E [N faft 3 7,698 0.0 720, 000 240, 000
E&EIENEFE (CFE A E=4N faft 1 19 5.3 2, 362, 000 2, 362, 000
A A4 IR EHE (RiE) 3294 E=4N faft 4 7,698 0.1 3, 040, 000 760, 000
AARPA X REE I EHE () 3E5%e G248 fafr 16 34 47 13, 280, 000 830, 000
A AR A R TL A SN E R A 2 S h E=4N faft 2 19 10.5 1, 200, 000 600, 000
NEFE & B R iE s 41 fafr 2 19 10.5 440, 000 220, 000
BRI FHILE A E=4N fafr 1 19 5.3 600, 000 600, 000
e o] [T B A2 Y T oo s o) B A e 4 G248 faft 2 19 10.5 480, 000 240, 000
FRE BB R AN E N P A4 =24 Fafsr 1 19 5.3 780, 000 780, 000
(RHBE)

VA FE B KRB R S A S5 4 T faft 8 109 7.3 4, 608, 000 576, 000
B A E TV NS I - ] Bt S E=4N faft 2 109 1.8 1, 680, 000 840, 000
A AR A R R — R 41 Hh5 21 109 19.3 25, 848, 000 1, 230, 857
A AR A R R FE E=4N g5 3 109 2.8 2, 760, 000 920, 000
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(R F4)
(i NS TN Ty I - CANES PN e s o S Sa o) T faft 22 109 20. 2 6, 336, 000 288, 000
R E e i E=4N faft 2 109 1.8 1, 200, 000 600, 000
FLESE NS A R S E=4N faft 4 109 3.7 3, 360, 000 840, 000
e B AR SR E=4N faft 2 109 1.8 480, 000 240, 000
2= R—v 7 — NTROS &4 E=4N Faft 1 109 0.9 600, 000 600, 000
u—# U —XK &4 E=4N Faft 2 109 1.8 3, 360, 000 1, 680, 000
(RZFPRIEEHFTER)

P FE B KR BRI L B Fe B i (B 75 B it 4 FH Faft 15 146 10.3 7,500, 000 500, 000
PO FE B R FIER R AR T Hifa ke A it 4 N fafr 5 146 3.4 159, 374 31, 875
PEFE B KPR FBRIE BRI A 53 Y4 N Hh5 1 146 0.7 615, 000 615, 000
VO FA L S R TS R e 4 G548 faft 1 146 0.7 1, 000, 000 1, 000, 000
A AR A R R — RS BN Hh5 27 146 18.5 28,512, 000 1, 056, 000
A AR A R R S 41 Hh5 71 146 48.6 | 129, 480, 000 1, 823, 662
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